Missing Minuends

Name: Score:

Fill in the the missing minuends and substrahends.

874 - () = 678
() - 25 = 33 e

688 - (] = 477 739 - (] = eo1
() - 121 = 288 () - 301 = 287
980 - (] = 622 644 - (] = 330
() - 191 = 301 () - 328 = 105
81 - (] = 283 750 - () = 607

- 246 = 454 - 328 = 175

- 239 = 666 - 224 = 690

U U

-
)
812 - (] = 550 809 - (] = 4m4
() - 361 = 238 () - 124 = 44
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Answers

Fill in the the missing minuends and substrahends.

874 - |751| = 678 OO
% P

'

- 235 = 332 S

688 - [(211) = 477 739 - [138] = 601
409) - 121 = 288 - 301 = 287
980 - = 622 644 - (314] = 330
492) - 191 = 301 - 328 = 105
581 - [208] = 283 750 - = 607
(700) - 246 = 454 503) - 328 = 175
005) - 239 = 666 914) - 224 = 6%
812 - [262] = 550 809 - = 474
599 - 361 = 238 565) - 124 = 441
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